



Positivity of a Differential Operator with Nonlocal Conditions

Allaberen Ashyralyev^a, Nese Nalbant^b

^aDepartment of Elementary Mathematics Education, Fatih University, 34500 Buyukcekmece, Istanbul, Turkey

Department of Mathematics, ITTU, Ashgabat, Turkmenistan

^bDepartment of Mathematics Fatih University, Istanbul, Turkey

Abstract. In the present paper, the positivity of the differential operator with nonlocal boundary conditions is established. The structure of fractional spaces is investigated. In applications, we will obtain new coercive inequalities for the solution of local and nonlocal boundary value problems for parabolic equations.

1. Introduction

Various local and nonlocal boundary value problems for partial differential equations can be considered as an abstract boundary value problem for ordinary differential equations in a Banach space with a densely defined unbounded space operator. The theory of differential and difference operators and their related applications has been investigated by many researchers (see, for example, [1–17]).

In the present paper, we consider the differential operator A^x defined by the formula

$$A^x u = -\frac{d^2 u}{dx^2} + \delta u, \quad (1)$$

with the domain

$$D(A^x) = \left\{ u \in C^{(2)}[0, 1] : u(0) = 0, u(1) = u(\mu), 0 \leq \mu < 1 \right\},$$

where $\delta > 0$.

We will introduce the Banach space $C^\beta[0, 1]$ ($0 < \beta < 1$) of all continuous functions φ defined on $[0, 1]$ and satisfying a Hölder condition for which the following norm is finite:

$$\|\varphi\|_{C^\beta[0,1]} = \sup_{x \in [0,1]} |\varphi(x)| + \sup_{\substack{x,y \in [0,1] \\ x \neq y}} \frac{|\varphi(y) - \varphi(x)|}{|y - x|^\beta}.$$

$$\text{Let } \overset{\circ}{C}^\beta[0, 1] = \left\{ u \in C^\beta[0, 1] : u(0) = 0, u(1) = u(\mu), 0 \leq \mu < 1 \right\}.$$

2010 *Mathematics Subject Classification.* Primary 35J08; Secondary 46E15, 47B65

Keywords. Positivity of differential operators, nonlocal conditions, Banach space, fractional space

Received: 31 August 2015; Revised: 29 december 2015; Accepted: 05 January 2016

Communicated by Ljubiša D.R. Kočinac and Ekrem Savaş

Email addresses: aashyr@yahoo.com (Allaberen Ashyralyev), nesenalbant@yahoo.com (Nese Nalbant)

Moreover, for a positive operator A in the Banach space E , let us introduce the fractional spaces $E_\alpha = E_\alpha(E, A)$ ($0 < \alpha < 1$) consisting of those $v \in E$ for which norms

$$\|v\|_{E_\alpha} = \sup_{\lambda > 0} \lambda^\alpha \|A(\lambda + A)^{-1}v\|_E$$

are finite.

We will investigate the resolvent of the operator $-A^x$, that is, we consider the equation

$$A^x u + \lambda u = f \tag{2}$$

or

$$\begin{aligned} -\frac{d^2 u(x)}{dx^2} + \delta u(x) + \lambda u(x) &= f(x), \\ u(0) = 0, u(1) &= u(\mu), 0 \leq \mu < 1. \end{aligned} \tag{3}$$

We establish the positivity of the differential operator A^x in $C[0, 1]$. The structure of fractional spaces $E_\alpha(C[0, 1], A^x)$ will be investigated. It is established that for any $0 < \alpha < 1/2$ the norms in the spaces $E_\alpha(C[0, 1], A^x)$ and $C^{o, 2\alpha}[0, 1]$ are equivalent. This result permits us to prove the positivity of A^x in $C^{o, 2\alpha}[0, 1]$. In applications, we will obtain new coercive inequalities for the solution of a nonlocal boundary value problem for parabolic equation.

2. Green’s Function and Positivity of A^x in $C[0, 1]$

In this section, we will explain the proof of the positivity in $C[0, 1]$ of the operator A^x defined by formula (1).

Lemma 2.1. *Let $\lambda > 0$. Then, the following equation*

$$A^x u + \lambda u = f \tag{4}$$

is uniquely solvable, and the formula holds:

$$u(x) = (A^x + \lambda)^{-1} f(x) = \int_0^1 G(x, s, \mu; \lambda + \delta) f(s) ds, \tag{5}$$

where

$$\begin{aligned} G(x, s, \mu; \lambda + \delta) &= -(e^{-\sqrt{\delta+\lambda}(1-x)} - e^{-\sqrt{\delta+\lambda}(1+x)}) \frac{T}{2\sqrt{\delta+\lambda}} (e^{-\sqrt{\delta+\lambda}(1-s)} - e^{-\sqrt{\delta+\lambda}(1+s)}) \\ &\times [(1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} (e^{-\sqrt{\delta+\lambda}(1-\mu)} - e^{-\sqrt{\delta+\lambda}(1+\mu)}) + 1] \\ &+ (e^{-\sqrt{\delta+\lambda}(1-x)} - e^{-\sqrt{\delta+\lambda}(1+x)}) (1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \frac{1}{2\sqrt{\delta+\lambda}} \\ &\times (e^{-\sqrt{\delta+\lambda}|\mu-s|} - e^{-\sqrt{\delta+\lambda}(\mu+s)}) + \frac{1}{2\sqrt{\delta+\lambda}} (e^{-\sqrt{\delta+\lambda}|x-s|} - e^{-\sqrt{\delta+\lambda}(x+s)}). \end{aligned} \tag{6}$$

Here

$$T = (1 - e^{-2\sqrt{\delta+\lambda}})^{-1}.$$

Proof. We see that problem (3) can be obviously rewritten as the equivalent nonlocal boundary value problem for the second order linear differential equation

$$-\frac{d^2u}{dx^2} + (\delta + \lambda)u = f(x), 0 < x < 1, u(0) = 0, u(1) = u(\mu), 0 \leq \mu < 1.$$

We have the following formula:

$$\begin{aligned} u(x) = T \left\{ (e^{-\sqrt{\delta+\lambda}x} - e^{-\sqrt{\delta+\lambda}(2-x)})\varphi + (e^{-\sqrt{\delta+\lambda}(1-x)} - e^{-\sqrt{\delta+\lambda}(1+x)})\psi \right. \\ \left. - (e^{-\sqrt{\delta+\lambda}(1-x)} - e^{-\sqrt{\delta+\lambda}(1+x)}) \frac{1}{2\sqrt{\delta+\lambda}} \int_0^1 (e^{-\sqrt{\delta+\lambda}(1-s)} - e^{-\sqrt{\delta+\lambda}(1+s)})f(s)ds \right\} \\ + \frac{1}{2\sqrt{\delta+\lambda}} \int_0^1 (e^{-\sqrt{\delta+\lambda}|x-s|} - e^{-\sqrt{\delta+\lambda}(x+s)})f(s)ds \end{aligned} \quad (7)$$

for the solution of the boundary value problem

$$-\frac{d^2u}{dx^2} + (\delta + \lambda)u = f(x), 0 < x < 1, u(0) = \varphi, u(1) = \psi$$

for second-order linear differential equations. Applying formula (7) and nonlocal boundary conditions $u(0) = \varphi = 0, u(1) = u(\mu) = \psi$, we get

$$\begin{aligned} \psi = T \left\{ (e^{-\sqrt{\delta+\lambda}(1-\mu)} - e^{-\sqrt{\delta+\lambda}(1+\mu)})\psi - (e^{-\sqrt{\delta+\lambda}(1-\mu)} - e^{-\sqrt{\delta+\lambda}(1+\mu)}) \right. \\ \left. \times \frac{1}{2\sqrt{\delta+\lambda}} \int_0^1 (e^{-\sqrt{\delta+\lambda}(1-s)} - e^{-\sqrt{\delta+\lambda}(1+s)})f(s)ds \right\} \\ + \frac{1}{2\sqrt{\delta+\lambda}} \int_0^1 (e^{-\sqrt{\delta+\lambda}|\mu-s|} - e^{-\sqrt{\delta+\lambda}(\mu+s)})f(s)ds. \end{aligned}$$

Solving the equation, we obtain

$$\begin{aligned} \psi = -(1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} (e^{-\sqrt{\delta+\lambda}(1-\mu)} - e^{-\sqrt{\delta+\lambda}(1+\mu)}) \\ \times \frac{1}{2\sqrt{\delta+\lambda}} \int_0^1 (e^{-\sqrt{\delta+\lambda}(1-s)} - e^{-\sqrt{\delta+\lambda}(1+s)})f(s)ds \\ + (1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \frac{T^{-1}}{2\sqrt{\delta+\lambda}} \int_0^1 (e^{-\sqrt{\delta+\lambda}|\mu-s|} - e^{-\sqrt{\delta+\lambda}(\mu+s)})f(s)ds. \end{aligned} \quad (8)$$

Finally, applying formulas (7)-(8), we obtain formula (5). This finishes the proof of Lemma 2.1. \square

The function $G(x, s; \lambda + \delta)$ is called the Green function of the resolvent equation (4).

Lemma 2.2. For all $0 \leq x \leq 1$, the following formula holds

$$\int_0^1 G(x, s, \mu; \lambda + \delta) ds = \frac{1}{\delta + \lambda} - \frac{1}{\delta + \lambda} e^{-\sqrt{\delta + \lambda} x} - \frac{e^{-\sqrt{\delta + \lambda} \mu}}{\delta + \lambda} (e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)}) (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1}. \tag{9}$$

Proof. Applying formula (6) and taking the integral, we get

$$\begin{aligned} \int_0^1 G(x, s, \mu; \lambda + \delta) ds &= - \int_0^1 (e^{-\sqrt{\delta + \lambda}(1-s)} - e^{-\sqrt{\delta + \lambda}(1+s)}) ds \\ &\times (e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)}) \frac{T}{2\sqrt{\delta + \lambda}} \\ &\times [(1 - e^{-\sqrt{\delta + \lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1} (e^{-\sqrt{\delta + \lambda}(1-\mu)} - e^{-\sqrt{\delta + \lambda}(1+\mu)}) + 1] \\ &+ (e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)}) (1 - e^{-\sqrt{\delta + \lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1} \frac{1}{2\sqrt{\delta + \lambda}} \\ &\times \int_0^1 (e^{-\sqrt{\delta + \lambda}|u-s|} - e^{-\sqrt{\delta + \lambda}(\mu+s)}) ds + \frac{1}{2\sqrt{\delta + \lambda}} \int_0^1 (e^{-\sqrt{\delta + \lambda}|x-s|} - e^{-\sqrt{\delta + \lambda}(x+s)}) ds \\ &= -(e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)}) \frac{T}{2(\delta + \lambda)} (1 - 2e^{-\sqrt{\delta + \lambda}} + e^{-2\sqrt{\delta + \lambda}}) \\ &\times [(1 - e^{-\sqrt{\delta + \lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1} (e^{-\sqrt{\delta + \lambda}(1-\mu)} - e^{-\sqrt{\delta + \lambda}(1+\mu)}) + 1] \\ &+ (e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)}) (1 - e^{-\sqrt{\delta + \lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1} \\ &\times \frac{1}{2(\delta + \lambda)} (2 - 2e^{-\sqrt{\delta + \lambda}\mu} - e^{-\sqrt{\delta + \lambda}(1-\mu)} + e^{-\sqrt{\delta + \lambda}(1+\mu)}) \\ &+ \frac{1}{2(\delta + \lambda)} (2 - 2e^{-\sqrt{\delta + \lambda}x} - e^{-\sqrt{\delta + \lambda}(1-x)} + e^{-\sqrt{\delta + \lambda}(1+x)}) \\ &= \frac{1}{\delta + \lambda} - \frac{1}{\delta + \lambda} e^{-\sqrt{\delta + \lambda}x} + \frac{1}{2(\delta + \lambda)} (e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)}) \\ &\times (1 - e^{-\sqrt{\delta + \lambda}(1-\mu)})^{-1} (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1} \Delta, \end{aligned}$$

where

$$\begin{aligned} \Delta &= -(1 - e^{-\sqrt{\delta + \lambda}(1-\mu)}) (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)}) - T(1 - e^{-\sqrt{\delta + \lambda}x})^2 \\ &\times [e^{-\sqrt{\delta + \lambda}(1-\mu)} + e^{-\sqrt{\delta + \lambda}(1+\mu)} + (1 - e^{-\sqrt{\delta + \lambda}(1-\mu)}) (1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})] \\ &+ 2 - 2e^{-\sqrt{\delta + \lambda}\mu} - e^{-\sqrt{\delta + \lambda}(1-\mu)} + e^{-\sqrt{\delta + \lambda}(1+\mu)} \\ &= -2e^{-\sqrt{\delta + \lambda}\mu} (1 - e^{-\sqrt{\delta + \lambda}(1-\mu)}). \end{aligned}$$

This finishes the proof of Lemma 2.2. \square

Lemma 2.3. For all $\lambda \in R_\varphi = \{\lambda : |\arg \lambda| \leq \varphi, \varphi < \pi/2\}$ expressions $1 + e^{-\sqrt{\delta+\lambda}(1+\mu)}$, $1 - e^{-\sqrt{\delta+\lambda}(1-\mu)}$ and $1 - e^{-2\sqrt{\delta+\lambda}}$ are not equal to zero.

Proof. Let $\lambda = \rho e^{i\varphi} = \rho \cos \varphi + i \rho \sin \varphi$. Then

$$\delta + \lambda = \delta + \rho \cos \varphi + i \rho \sin \varphi = |\delta + \lambda| e^{i\psi}$$

and

$$|\delta + \lambda| = \sqrt{\delta^2 + 2\rho \cos \varphi + \rho^2} \geq \sqrt{\delta^2 + |\lambda|^2}.$$

Therefore $(\delta + \lambda)^{1/2} = |(\delta + \lambda)^{1/2}| e^{i\psi/2}$, $|(\delta + \lambda)^{1/2}| = |\delta + \lambda|^{1/2} \frac{\sqrt{2}}{2}$. Here $\tan \psi = \frac{\rho \sin \varphi}{\delta + \rho \cos \varphi} \leq \tan \varphi$. From that it follows $|\delta + \lambda|^{1/2} \geq (\delta^2 + |\lambda|^2)^{1/4}$ and we have that $|(\delta + \lambda)^{1/2}| \geq (\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}$. Therefore, using the triangle inequality, we get

$$\left| 1 - e^{-2\sqrt{\delta+\lambda}} \right| \geq 1 - \left| e^{-2\sqrt{\delta+\lambda}} \right| \geq 1 - e^{-2(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}} > 0.$$

Similarly $\left| 1 + e^{-\sqrt{\delta+\lambda}(1+\mu)} \right| > 0$ and $\left| 1 - e^{-\sqrt{\delta+\lambda}(1-\mu)} \right| > 0$. Lemma 2.3 is proved. \square

Lemma 2.4. For any $\lambda \in R_\varphi = \{\lambda : |\arg \lambda| \leq \varphi, \varphi < \pi/2\}$, $\mu \in [0, 1)$ and $x \in [0, 1]$ the following estimate holds

$$\int_0^1 |G(x, s, \mu; \lambda + \delta)| ds \leq \frac{M(\delta, \mu)}{1 + |\lambda|}. \tag{10}$$

Proof. There are three possible cases: $0 \leq x \leq \mu$, $\mu < x \leq \frac{1+\mu}{2}, \frac{x+\mu}{2} < x \leq 1$. In the first and second cases, it is easy to see that

$$\min\{2 - x - s, 1 - x + |\mu - s|, |x - s|\} = |x - s| \tag{11}$$

for any $x, s \in [0, 1]$. By Lemma 2.3 and estimate (11) we have the following estimate for the Green function of resolvent equation (4)

$$|G(x, s, \mu; \lambda + \delta)| \leq \frac{M_1(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}} e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|}. \tag{12}$$

Then, applying (12), we get

$$\begin{aligned} \int_0^1 |G(x, s, \mu; \lambda + \delta)| ds &\leq \frac{M_1(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|} ds \\ &= \frac{M_1(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}} \left[\int_0^x e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} ds + \int_x^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} ds \right] \\ &\leq \frac{M_2(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/2}}. \end{aligned} \tag{13}$$

Estimate (10) for this case follows from the last estimate and the following inequality

$$\frac{1}{(\delta^2 + |\lambda|^2)^{1/2}} \leq \frac{M_1(\delta)}{1 + |\lambda|}. \tag{14}$$

In the third case $\frac{1+\mu}{2} < x \leq 1$. It is easy to see that

$$\begin{aligned} & \min\{2 - x - s, 1 - x + |\mu - s|, |x - s|\} \\ &= \begin{cases} 1 - x + \mu - s, & 0 \leq s \leq \mu, \\ x - s, & \mu \leq s \leq x, \\ s - x, & x \leq s \leq 1 \end{cases} \end{aligned} \tag{15}$$

for any $x, s \in [0, 1]$. By Lemma 2.3 and formula (15), we have the following estimate for the Green function of resolvent equation (4)

$$|G(x, s, \mu; \lambda + \delta)| \leq \frac{M_1(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}} \begin{cases} e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)}, & 0 \leq s \leq \mu, \\ e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)}, & \mu \leq s \leq x, \\ e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)}, & x \leq s \leq 1. \end{cases} \tag{16}$$

Then, applying (16), we get

$$\begin{aligned} & \int_0^1 |G(x, s, \mu; \lambda + \delta)| ds \leq \frac{M_1(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}} \left[\int_0^\mu e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} ds \right. \\ & \left. + \int_\mu^x e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} ds + \int_x^1 e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} ds \right] \\ & \leq \frac{M_3(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/2}}. \end{aligned} \tag{17}$$

Lemma 2.4 is proved. \square

Lemma 2.5. For any $\lambda \in R_\varphi = \{\lambda : |\arg \lambda| \leq \varphi, \varphi < \pi/2\}$, $\mu \in [0, 1]$ and $x \in [0, 1]$ the following estimate for the derivative of Green's function of resolvent equation (4) with respect to x holds

$$|G_x(x, s, \mu; \lambda + \delta)| \leq M_2(\delta, \mu) e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|} \tag{18}$$

for $0 \leq x \leq \mu, \mu < x \leq \frac{1+\mu}{2}$,

$$|G(x, s, \mu; \lambda + \delta)| \leq M_3(\delta, \mu) \times \begin{cases} e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)}, & 0 \leq s \leq \mu, \\ e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)}, & \mu \leq s \leq x, \\ e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)}, & x \leq s \leq 1. \end{cases} \tag{19}$$

for $\frac{1+\mu}{2} < x \leq 1$.

Proof. By using the equation (6), if $x - s < 0$, then we get

$$\begin{aligned}
 G_x(x, s, \mu; \lambda + \delta) &= -\frac{T}{2}(e^{-\sqrt{\delta+\lambda}(1-x)} + e^{-\sqrt{\delta+\lambda}(1+x)})(e^{-\sqrt{\delta+\lambda}(1-s)} - e^{-\sqrt{\delta+\lambda}(1+s)}) \\
 &\times [(1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1}(1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1}(e^{-\sqrt{\delta+\lambda}(1-\mu)} - e^{-\sqrt{\delta+\lambda}(1+\mu)}) + 1] \\
 &+ \frac{1}{2}(e^{-\sqrt{\delta+\lambda}(1-x)} + e^{-\sqrt{\delta+\lambda}(1+x)})(1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1}(1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \\
 &\times (e^{-\sqrt{\delta+\lambda}|\mu-s|} - e^{-\sqrt{\delta+\lambda}(\mu+s)}) + \frac{1}{2}(e^{-\sqrt{\delta+\lambda}(s-x)} + e^{-\sqrt{\delta+\lambda}(x+s)}).
 \end{aligned} \tag{20}$$

If $x - s > 0$, then we get

$$\begin{aligned}
 G_x(x, s, \mu; \lambda + \delta) &= -\frac{T}{2}(e^{-\sqrt{\delta+\lambda}(1-x)} + e^{-\sqrt{\delta+\lambda}(1+x)})(e^{-\sqrt{\delta+\lambda}(1-s)} - e^{-\sqrt{\delta+\lambda}(1+s)}) \\
 &\times [(1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1}(1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1}(e^{-\sqrt{\delta+\lambda}(1-\mu)} - e^{-\sqrt{\delta+\lambda}(1+\mu)}) + 1] \\
 &+ \frac{1}{2}(e^{-\sqrt{\delta+\lambda}(1-x)} + e^{-\sqrt{\delta+\lambda}(1+x)})(1 - e^{-\sqrt{\delta+\lambda}(1-\mu)})^{-1}(1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \\
 &\times (e^{-\sqrt{\delta+\lambda}|\mu-s|} - e^{-\sqrt{\delta+\lambda}(\mu+s)}) + \frac{1}{2}(-e^{-\sqrt{\delta+\lambda}(x-s)} + e^{-\sqrt{\delta+\lambda}(x+s)}).
 \end{aligned} \tag{21}$$

There are three possible cases: $0 \leq x \leq \mu$, $\mu < x \leq \frac{1+\mu}{2}$, $\frac{1+\mu}{2} < x \leq 1$. In the first and second cases, we have estimate (11). By Lemma 2.3 and estimate (11), we have the following estimate from (20) and (21).

$$|G_x(x, s, \mu; \lambda + \delta)| \leq M_1(\delta, \mu)e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|}. \tag{22}$$

Then, applying (22), we get

$$\begin{aligned}
 \int_0^1 |G_x(x, s, \mu; \lambda + \delta)| ds &\leq M_1(\delta, \mu) \int_0^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|} ds \\
 &= M_1(\delta, \mu) \left[\int_0^x e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} ds + \int_x^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} ds \right] \\
 &\leq \frac{M_3(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}}.
 \end{aligned} \tag{23}$$

Estimate (18) for this case follows from the last estimate and inequality (14). In the third case, by Lemma 2.3 and formula (15) we have the following estimate from (20).

$$|G(x, s, \mu; \lambda + \delta)| \leq M_1(\delta, \mu) \begin{cases} e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)}, & 0 \leq s \leq \mu, \\ e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)}, & \mu \leq s \leq x, \\ e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)}, & x \leq s \leq 1. \end{cases} \tag{24}$$

Then, applying (24), we get

$$\begin{aligned} \int_0^1 |G_x(x, s, \mu; \lambda + \delta)| ds &\leq M_1(\delta, \mu) \left[\int_0^\mu e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} ds \right. \\ &\quad \left. + \int_\mu^x e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} ds + \int_x^1 e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} ds \right] \\ &\leq \frac{M_3(\delta, \mu)}{(\delta^2 + |\lambda|^2)^{1/4}}. \end{aligned} \tag{25}$$

Estimate (10) for this case follows from the last estimate and inequality (12). Lemma 2.5 is proved. \square

Applying formula (7) we can establish the positivity of A^x in $C[0,1]$ as follows.

Theorem 2.6. For all $\lambda \in R_\varphi = \{\lambda : |\arg \lambda| \leq \varphi, \varphi < \pi/2\}$, the resolvent $(\lambda I + A^x)^{-1}$ defined by formula (7) is subject to the bound

$$\|(\lambda I + A^x)^{-1}\|_{C[0,1] \rightarrow C[0,1]} = \frac{M(\varphi, \delta)}{(1 + |\lambda|)}.$$

Proof. Using the formula (7) and the triangle inequality, we get

$$|u(x)| \leq \int_0^1 |G(x, s, \mu; \lambda + \delta)| ds \max_{0 \leq s \leq 1} |f(s)|$$

for any $x \in [0, 1]$. Then,

$$\max_{x \in [0,1]} |u(x)| \leq \max_{x \in [0,1]} \int_0^1 |G(x, s, \mu; \lambda + \delta)| ds \|f(s)\|_{C[0,1]},$$

and

$$\|(A^x + \lambda)^{-1}\|_{C[0,1]} \leq \frac{M(\varphi, \delta)}{(1 + |\lambda|)} \|f(s)\|_{C[0,1]}.$$

From that it follows

$$\|(A^x + \lambda)^{-1}\|_{C[0,1] \rightarrow C[0,1]} \leq \frac{M(\varphi, \delta)}{(1 + |\lambda|)}.$$

\square

Second, the positivity of A^x in $C[0, 1]$ is investigated.

3. The Structure of Fractional Spaces $E_\alpha(A^x, C[0, 1])$, Positivity of A^x in $C^{(2\alpha)}[0, 1]$

Clearly, the operators A^x and its resolvent $(\lambda + A^x)^{-1}$ commute. Thus, from the definition of the norm in the space $E_\alpha(C[0, 1], A^x)$ it follows that

$$\|(\lambda + A^x)^{-1}\|_{E_\alpha(C[0,1],A^x) \rightarrow E_\alpha(C[0,1],A^x)} \leq \|(\lambda + A^x)^{-1}\|_{C^{(2\alpha)}[0,1] \rightarrow C^{(2\alpha)}[0,1]}.$$

Hence, by using Theorem 2.6, we obtain the positivity of the operator A^x in the fractional spaces $E_\alpha(C[0, 1], A^x)$. Moreover, the following theorem holds.

Theorem 3.1. *Let $\alpha \in (0, 1/2)$. Then, the norms of the spaces $E_\alpha(C[0, 1], A^x)$ and $C^{(2\alpha)}[0, 1]$ are equivalent.*

Proof. For any $\lambda \geq 0$ we have the following equality

$$A^x(\lambda + A^x)^{-1}f(x) = f(x) - \lambda(\lambda + A^x)^{-1}f(x).$$

By formula (5), we can write

$$\begin{aligned} A^x(\lambda + A^x)^{-1}f(x) &= f(x) - \lambda \int_0^1 G(x, s, \mu; \lambda + \delta)f(s)ds \\ &= \frac{\delta}{\delta + \lambda}f(x) + \frac{\lambda}{\delta + \lambda}f(x) - \lambda \int_0^1 G(x, s, \mu; \lambda + \delta)f(s)ds. \end{aligned} \tag{26}$$

From equation (9), we have the following formula

$$\begin{aligned} \frac{1}{\delta + \lambda} &= \int_0^1 G(x, s, \mu; \lambda + \delta)ds + \frac{1}{\delta + \lambda}e^{-\sqrt{\delta + \lambda}x} \\ &+ \frac{e^{-\sqrt{\delta + \lambda}\mu}}{\delta + \lambda}(e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)})(1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1}. \end{aligned} \tag{27}$$

By using (26) and (27), we get

$$\begin{aligned} A^x(\lambda + A^x)^{-1}f(x) &= \frac{\delta}{\delta + \lambda}f(x) + \frac{\lambda}{\delta + \lambda} \left[e^{-\sqrt{\delta + \lambda}x} \right. \\ &+ \left. e^{-\sqrt{\delta + \lambda}\mu}(e^{-\sqrt{\delta + \lambda}(1-x)} - e^{-\sqrt{\delta + \lambda}(1+x)})(1 + e^{-\sqrt{\delta + \lambda}(1+\mu)})^{-1} \right] f(x) \\ &+ \lambda \int_0^1 G(x, s, \mu; \lambda + \delta)(f(x) - f(s))ds. \end{aligned}$$

Then

$$\lambda^\alpha A^x(\lambda + A^x)^{-1}f(x) = \frac{\delta\lambda^\alpha}{\delta + \lambda}f(x) + \frac{\lambda^{\alpha+1}}{\delta + \lambda} \left[e^{-\sqrt{\delta + \lambda}x} \right.$$

$$\begin{aligned}
 &+e^{-\sqrt{\delta+\lambda}\mu}(e^{-\sqrt{\delta+\lambda}(1-x)} - e^{-\sqrt{\delta+\lambda}(1+x)})(1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} f(x) \\
 &+ \lambda^{\alpha+1} \int_0^1 G(x, s, \mu; \lambda + \delta) (f(x) - f(s)) ds \\
 &= P_1(x) + P_2(x) + P_3(x)
 \end{aligned}$$

Using the definition of norm space $\overset{\circ}{C}^{2\alpha} [0, 1]$ and $\frac{\lambda^\alpha \delta^{1-\alpha}}{\delta + \lambda} \leq 1$, we can write

$$|P_1(x)| \leq \frac{\delta^\alpha \lambda^\alpha \delta^{1-\alpha}}{\delta + \lambda} |f(x)| \leq \delta^\alpha \max_{x \in [0,1]} |f(x)| \leq \delta^\alpha \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]}$$

for any $x \in [0, 1]$.

Then,

$$\max_{x \in [0,1]} |P_1(x)| \leq \delta^\alpha \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]}$$

or

$$\|P_1\|_{C[0,1]} \leq \delta^\alpha \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]}. \tag{28}$$

We have that

$$\begin{aligned}
 P_2(x) &= \frac{\lambda^{\alpha+1}}{\delta + \lambda} e^{-\sqrt{\delta+\lambda}x} [f(x) - f(0)] + \frac{\lambda^{\alpha+1}}{\delta + \lambda} e^{-\sqrt{\delta+\lambda}(1+\mu-x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} [f(x) - f(1)] \\
 &+ \frac{\lambda^{\alpha+1}}{\delta + \lambda} e^{-\sqrt{\delta+\lambda}(1+\mu+x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} [-f(x) + f(1)] \\
 &+ \frac{\lambda^{\alpha+1}}{\delta + \lambda} e^{-\sqrt{\delta+\lambda}(1+\mu-x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} [f(\mu) - f(0)] \\
 &- \frac{\lambda^{\alpha+1}}{\delta + \lambda} e^{-\sqrt{\delta+\lambda}(1+\mu+x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} f(1).
 \end{aligned}$$

Then, using the triangle inequality and the estimate $p^\alpha e^{-pt} \leq \frac{M}{t^\alpha}, p > 0$, we can write

$$\begin{aligned}
 |P_2(x)| &\leq \left(\frac{\lambda}{\delta + \lambda}\right)^{\alpha+1} (\delta + \lambda)^{\alpha+1} e^{-\sqrt{\delta+\lambda}x} \frac{|f(x) - f(0)|}{x^{2\alpha}} x^{2\alpha} \\
 &+ \left(\frac{\lambda}{\delta + \lambda}\right)^{\alpha+1} (\delta + \lambda)^{\alpha+1} e^{-\sqrt{\delta+\lambda}(1+\mu-x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \frac{|f(x) - f(1)|}{(1-x)^{2\alpha}} (1-x)^{2\alpha} \\
 &+ \left(\frac{\lambda}{\delta + \lambda}\right)^{\alpha+1} (\delta + \lambda)^{\alpha+1} e^{-\sqrt{\delta+\lambda}(1+\mu+x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \frac{|f(x) - f(1)|}{(1-x)^{2\alpha}} (1-x)^{2\alpha} \\
 &+ \left(\frac{\lambda}{\delta + \lambda}\right)^{\alpha+1} (\delta + \lambda)^{\alpha+1} e^{-\sqrt{\delta+\lambda}(1+\mu-x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} \frac{|f(\mu) - f(0)|}{\mu^{2\alpha}} \mu^{2\alpha} \\
 &+ \left(\frac{\lambda}{\delta + \lambda}\right)^{\alpha+1} (\delta + \lambda)^{\alpha+1} e^{-\sqrt{\delta+\lambda}(1+\mu+x)} (1 + e^{-\sqrt{\delta+\lambda}(1+\mu)})^{-1} f(1) \\
 &\leq M \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]} + M \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]} + M \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]} + M \|f\|_{\overset{\circ}{C}^{2\alpha} [0,1]}
 \end{aligned}$$

$$+ \max_{x \in [0,1]} |f(x)| \frac{1}{(1 + \mu + x)^{2\alpha}} \leq M_1 \|f\|_{C^{2\alpha}_{[0,1]}}$$

for any $x \in [0, 1]$. Then,

$$\|P_2\|_{C[0,1]} \leq M \|f\|_{C^{2\alpha}_{[0,1]}}. \tag{29}$$

Now, we will estimate $P_3(x)$.

From (12) for $0 \leq x \leq \mu$ and $\mu < x \leq \frac{1+\mu}{2}$, we get

$$\begin{aligned} |P_3(x)| &\leq \lambda^{\alpha+1} \int_0^1 |G(x, s, \mu; \lambda + \delta)| |f(x) - f(s)| ds \\ &\leq \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|} |f(x) - f(s)| ds \\ &\leq \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|} |f(x) - f(s)| \frac{|x-s|^{2\alpha}}{|x-s|^{2\alpha}} ds \\ &\leq M \|f\|_{C^{2\alpha}_{[0,1]}} \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|x-s|} |x-s|^{2\alpha} ds. \end{aligned}$$

Using the substitution $y = (\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2} |x - s|$ we have the following inequality

$$\begin{aligned} |P_3(x)| &\leq M_2 \|f\|_{C^{2\alpha}_{[0,1]}} \frac{\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \int_0^\infty e^{-y} y^{2\alpha} ds \\ &\leq M_2 \|f\|_{C^{2\alpha}_{[0,1]}} \frac{\lambda^{\alpha+1}\Gamma(2\alpha + 1)}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \leq M_2 \|f\|_{C^{2\alpha}_{[0,1]}} \Gamma(2\alpha + 1). \end{aligned}$$

And using estimate (16) for $\frac{1+\mu}{2} < x \leq 1$, we get

$$P_3(x) \leq \lambda^{\alpha+1} \int_0^1 G(x, s, \mu; \lambda + \delta) (f(x) - f(s)) ds = P_{31}(x) + P_{32}(x) + P_{33}(x)$$

where

$$P_{31}(x) = \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} (f(x) - f(s)) ds,$$

$$P_{32}(x) = \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_\mu^x e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} (f(x) - f(s)) ds,$$

$$P_{33}(x) = \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_x^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} (f(x) - f(s)) ds.$$

Let us estimate $|P_{31}(x)|$.

$$P_{31}(x) = \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} (|f(x) - f(1) + f(\mu) - f(s)|) ds.$$

By the triangle inequality, we have

$$|P_{31}(x)| \leq \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} [|f(x) - f(1)| + |f(\mu) - f(s)|] ds.$$

Using the definition of norm, the following inequality holds.

$$\begin{aligned} |P_{31}(x)| &\leq \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \|f\|_{C^{2\alpha}_{[0,1]}} \left[\int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} (1-x)^{2\alpha} ds \right. \\ &\quad \left. + \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} (\mu-s)^{2\alpha} ds \right] \\ &\leq \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \|f\|_{C^{2\alpha}_{[0,1]}} e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x)} (1-x)^{2\alpha} \left[\int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(\mu-s)} ds \right. \\ &\quad \left. + e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x)} \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(\mu-s)} (\mu-s)^{2\alpha} ds \right]. \end{aligned}$$

Let us put

$$\begin{aligned} I_1 &= e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x)} (1-x)^{2\alpha} \\ I_2 &= \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(\mu-s)} ds \\ I_3 &= \int_0^\mu e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x+\mu-s)} (\mu-s)^{2\alpha} ds. \end{aligned}$$

Then, by the inequality $e^{-at} \leq \frac{M}{(at)^\theta}; 0 < \theta < 1$,

$$I_1 \leq \frac{(1-x)^{2\alpha}}{\left((\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x) \right)^{2\alpha}} = \frac{M}{(\delta^2 + |\lambda|^2)^{2\alpha/4}}.$$

Taking the integral, we have

$$I_2 \leq \frac{\left[1 - e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}\mu} \right]}{(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}} \leq \frac{M}{(\delta^2 + |\lambda|^2)^{1/4}}$$

and for $y = (\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(\mu - s)$

$$I_3 \leq \frac{M}{(\delta^2 + |\lambda|^2)^{\frac{2\alpha+1}{4}}} \int_0^\infty e^{-y} y^{2\alpha} ds \leq \frac{M\Gamma(2\alpha + 1)}{(\delta^2 + |\lambda|^2)^{\frac{2\alpha+1}{4}}} \leq \frac{M}{(\delta^2 + |\lambda|^2)^{\frac{2\alpha+1}{4}}}.$$

Consequently, if we say $e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(1-x)} \leq 1, \Gamma(2\alpha + 1) \leq 1$ and using the results of I_1, I_2, I_3 the following inequality holds

$$|P_{31}(x)| \leq \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \|f\|_{C^{2\alpha} [0,1]} \left[\frac{M}{(\delta^2 + |\lambda|^2)^{2\alpha/4}} \cdot \frac{M}{(\delta^2 + |\lambda|^2)^{1/4}} + \frac{M}{(\delta^2 + |\lambda|^2)^{\frac{2\alpha+1}{4}}} \right]$$

$$|P_{31}(x)| \leq M_2(\delta, \mu) \|f\|_{C^{2\alpha} [0,1]} \frac{\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \leq M_2(\delta, \mu) \|f\|_{C^{2\alpha} [0,1]}.$$

Let us estimate $|P_{32}(x)|$.

$$P_{32}(x) = \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_\mu^x e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} (f(x) - f(s)) ds,$$

$$|P_{32}(x)| \leq M \|f\|_{C^{2\alpha} [0,1]} \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_\mu^x e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(x-s)} (x - s)^{2\alpha} ds.$$

Using the substitution $y = (\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2} (x - s)$ we have the following inequality

$$|P_{32}(x)| \leq M_2 \|f\|_{C^{2\alpha} [0,1]} \frac{\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \left(- \int_\infty^0 e^{-y} y^{2\alpha} ds \right)$$

$$\leq M_2 \|f\|_{C^{2\alpha} [0,1]} \frac{\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \int_0^\infty e^{-y} y^{2\alpha} ds$$

$$\leq M_2 \|f\|_{C^{2\alpha} [0,1]} \frac{\lambda^{\alpha+1}\Gamma(2\alpha + 1)}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \leq M_3 \|f\|_{C^{2\alpha} [0,1]} \Gamma(2\alpha + 1).$$

Let us estimate $|P_{33}(x)|$.

$$P_{33}(x) = \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_x^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} (f(x) - f(s)) ds.$$

$$|P_{33}(x)| \leq M \|f\|_{C^{2\alpha} [0,1]} \frac{M_1(\delta, \mu)\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{1/4}} \int_x^1 e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}(s-x)} |x - s|^{2\alpha} ds.$$

Using the substitution $y = (\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2} (s - x)$, we have the following inequality

$$\begin{aligned} |P_{33}(x)| &\leq M_2 \|f\|_{C^{2\alpha}_{[0,1]}} \frac{\lambda^{\alpha+1}}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \int_0^\infty e^{-y} y^{2\alpha} ds \\ &\leq M_2 \|f\|_{C^{2\alpha}_{[0,1]}} \frac{\lambda^{\alpha+1} \Gamma(2\alpha + 1)}{(\delta^2 + |\lambda|^2)^{\frac{1+\alpha}{2}}} \leq M_3 \|f\|_{C^{2\alpha}_{[0,1]}} \Gamma(2\alpha + 1). \end{aligned}$$

Then, we can write the following

$$\max_{x \in [0,1]} |P_3(x)| \leq \max_{x \in [0,1]} |P_{31}(x)| + \max_{x \in [0,1]} |P_{32}(x)| + \max_{x \in [0,1]} |P_{33}(x)|$$

or

$$\|P_3\|_{C[0,1]} \leq M(\alpha) \|f\|_{C^{2\alpha}_{[0,1]}}. \tag{30}$$

Using estimates (28),(29) and (30), we get

$$\max_{x \in [0,1]} |\lambda^\alpha A^x (\lambda + A^x)^{-1} f(x)| \leq M(\delta, \mu) \|f\|_{C^{2\alpha}_{[0,1]}} + M(\alpha) \|f\|_{C^{2\alpha}_{[0,1]}} \tag{31}$$

for any $\lambda \geq 0$. Hence,

$$\|f\|_{E_\alpha(C[0,1], A^x)} \leq M \|f\|_{C^{2\alpha}_{[0,1]}}.$$

Now, let us prove the opposite inequality. For any positive operator A^x in the Banach space, we can write

$$I = \int_0^\infty A^x (\lambda + A^x)^{-2} d\lambda, \tag{32}$$

where I is the identity operator.

From formulas (5) and (32) it follows that

$$\begin{aligned} f(x) &= \int_0^\infty (\lambda + A^x)^{-1} A^x (\lambda + A^x)^{-1} f(x) d\lambda \\ &= \int_0^\infty \int_0^1 G(x, s, \mu; \lambda + \delta) A^x (\lambda + A^x)^{-1} f(s) ds d\lambda \end{aligned}$$

Consequently,

$$\begin{aligned} f(x + \tau) - f(x) &= \int_0^\infty \int_0^1 [G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)] A^x (\lambda + A^x)^{-1} f(s) ds d\lambda \\ &= \int_0^\infty \lambda^{-\alpha} \int_0^1 [G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)] \lambda^\alpha A^x (\lambda + A^x)^{-1} f(s) ds d\lambda. \end{aligned}$$

Hence,

$$|f(x + \tau) - f(x)| \leq \left(\int_0^\infty \lambda^{-\alpha} \int_0^1 |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \right) \|f\|_{E_\alpha(C[0,1], A^x)}.$$

Let

$$\begin{aligned} T &= \tau^{-2\alpha} \left(\int_0^\infty \lambda^{-\alpha} \int_0^1 |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \right) \\ &= \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_0^x |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \\ &\quad + \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \\ &\quad + \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x+\tau}^1 |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \\ &= \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_0^x \int_x^{x+\tau} |G_z(z, s, \mu; \lambda + \delta)| dz ds d\lambda \\ &\quad + \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \\ &\quad + \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x+\tau}^1 \int_x^{x+\tau} |G_z(z, s, \mu; \lambda + \delta)| dz ds d\lambda \\ &= T_1 + T_2 + T_3. \end{aligned}$$

Then for any $x, \tau \in R^+$, we have that

$$\frac{|f(x + \tau) - f(x)|}{|\tau|^{-2\alpha}} \leq T \|f\|_{E_\alpha(C^{2\alpha}[0,1], A^x)}.$$

Now, we will prove that

$$T \leq \frac{M(\delta)}{2\alpha(1 - 2\alpha)}. \tag{33}$$

We will estimate T_1, T_2 and T_3 . First, let us estimate T_1 .

$$T_1 = \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_0^x \int_x^{x+\tau} |G_z(z, s, \mu; \lambda + \delta)| dz ds d\lambda$$

$$\begin{aligned} &\leq \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_0^x \int_x^{x+\tau} e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|z-s|} dz ds d\lambda \\ &\leq \tau^{-2\alpha} \int_0^x \int_x^{x+\tau} \int_0^\infty \lambda^{-\alpha} e^{-|\lambda|^{1/2} \frac{\sqrt{2}}{2}|z-s|} d\lambda dz ds = \tau^{-2\alpha} \int_0^x \int_x^{x+\tau} \Delta(z, s) dz ds, \end{aligned}$$

where

$$\Delta(z, s) = \int_0^\infty \lambda^{-\alpha} e^{-|\lambda|^{1/2} \frac{\sqrt{2}}{2}|z-s|} d\lambda. \tag{34}$$

By changing variable

$$p = -|\lambda|^{1/2} \frac{\sqrt{2}}{2} |z - s|,$$

we get

$$\lambda = \left(\frac{p}{\frac{\sqrt{2}}{2} |z - s|} \right)^2 = \frac{p^2}{\frac{1}{2} |z - s|^2}, d\lambda = \frac{2p dp}{\frac{1}{2} |z - s|^2}.$$

Then,

$$\begin{aligned} \Delta &= \int_0^\infty \frac{|z - s|^{2\alpha} \frac{1}{2\alpha} e^{-p} \frac{2p dp}{\frac{1}{2} |z - s|^2}}{p^{2\alpha}} = |z - s|^{2\alpha-2} 2^{2-\alpha} \int_0^\infty e^{-p} p^{1-2\alpha} dp \\ &= |z - s|^{2\alpha-2} 2^{2-\alpha} \Gamma(2 - 2\alpha) = M_0 |z - s|^{2\alpha-2}. \end{aligned}$$

Then,

$$T_1 \leq M_1 \tau^{-2\alpha} \int_0^x \int_x^{x+\tau} (z - s)^{2\alpha-2} dz ds \leq \frac{M_2}{(1 - 2\alpha) 2\alpha}. \tag{35}$$

Second, let us estimate T_2 .

$$\begin{aligned} T_2 &= \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} |G(x + \tau, s, \mu; \lambda + \delta) - G(x, s, \mu; \lambda + \delta)| ds d\lambda \\ &= \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} \left[\frac{e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|z-s|}}{(\delta^2 + |\lambda|^2)^{1/4}} + \frac{e^{-(\delta^2+|\lambda|^2)^{1/4} \frac{\sqrt{2}}{2}|z+\tau-s|}}{(\delta^2 + |\lambda|^2)^{1/4}} \right] ds d\lambda \\ &\leq \frac{M}{\sqrt{\lambda}} \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} \left[e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}|z-s|} + e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}|z+\tau-s|} \right] ds d\lambda \\ &= \frac{M}{\sqrt{\lambda}} \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} \left[e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}(s-x)} + e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}(z+\tau-s)} \right] ds d\lambda. \end{aligned}$$

$$= T_{21} + T_{22},$$

where

$$T_{21} = \frac{M}{\sqrt{\lambda}} \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}(s-x)} ds d\lambda,$$

$$T_{22} = \frac{M}{\sqrt{\lambda}} \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_x^{x+\tau} e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}(z+\tau-s)} ds d\lambda.$$

By changing variable

$$\sqrt{\lambda} \frac{\sqrt{2}}{2} (s - x) = p,$$

we get

$$\begin{aligned} T_{21} &= \frac{M}{\sqrt{\lambda}} \tau^{-2\alpha} \int_x^{x+\tau} \int_0^\infty \lambda^{-\alpha} e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}(s-x)} d\lambda ds \leq M_1 \tau^{-2\alpha} \int_x^{x+\tau} \int_0^\infty \frac{(s-x)^{2\alpha+1}}{p^{2\alpha+1}} \frac{e^{-p} dp}{(s-x)^2} ds \\ &= M_1 \tau^{-2\alpha} \int_x^{x+\tau} (s-x)^{2\alpha-1} ds \int_0^\infty e^{-p} p^{-2\alpha} dp = \frac{M_2}{2\alpha}. \end{aligned}$$

Similarly, by changing variable

$$\sqrt{\lambda} \frac{\sqrt{2}}{2} (x + \tau - s) = p,$$

we get,

$$\begin{aligned} T_{21} &= \frac{M}{\sqrt{\lambda}} \tau^{-2\alpha} \int_x^{x+\tau} \int_0^\infty \lambda^{-\alpha} e^{-\sqrt{\lambda} \frac{\sqrt{2}}{2}(x+\tau-s)} d\lambda ds \leq M_1 \tau^{-2\alpha} \int_x^{x+\tau} \int_0^\infty \frac{(x+\tau-s)^{2\alpha+1}}{p^{2\alpha+1}} \frac{e^{-p} dp}{(x+\tau-s)^2} ds \\ &\leq M_1 \tau^{-2\alpha} \int_x^{x+\tau} (x+\tau-s)^{2\alpha-1} ds \int_0^\infty e^{-p} p^{-2\alpha} dp = \frac{M_2}{2\alpha}. \end{aligned}$$

Then,

$$T_2 \leq \frac{M_2}{2\alpha}.$$

Finally, let us estimate T_3 .

$$T_3 = \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x+\tau}^1 \int_x^{x+\tau} |G_z(z, s, \mu; \lambda + \delta)| dz ds d\lambda$$

$$\begin{aligned} &\leq \tau^{-2\alpha} \int_0^\infty \lambda^{-\alpha} \int_{x+\tau}^1 \int_x^{x+\tau} e^{-(\delta^2 + |\lambda|^2)^{1/4} \frac{\sqrt{2}}{2} |z-s|} dz ds d\lambda \\ &\leq \tau^{-2\alpha} \int_{x+\tau}^1 \int_x^{x+\tau} \int_0^\infty \lambda^{-\alpha} e^{-|\lambda|^{1/2} \frac{\sqrt{2}}{2} |z-s|} d\lambda dz ds. \end{aligned}$$

Using (34), we get

$$T_3 \leq M_1 \tau^{-2\alpha} \int_{x+\tau}^1 \int_x^{x+\tau} (s-z)^{2\alpha-2} dz ds = \frac{M_1}{(1-2\alpha)2\alpha}. \tag{36}$$

Finally,

$$T \leq \frac{M}{1-2\alpha} + \frac{M}{2\alpha} \leq \frac{M}{2\alpha(1-2\alpha)}.$$

Theorem 3.1 is proved. \square

4. An Application

Now, we consider an application of Theorem 3.1. First, we consider the boundary value problem

$$\begin{aligned} &-\frac{\partial u}{\partial t} - \frac{\partial^2 u}{\partial x^2} + \delta u(t, x) = f(t, x), 0 < t < T, x \in [0, 1] \\ &u(0, x) = \varphi(x), x \in [0, 1] \\ &u(t, 0) = 0, u(t, 1) = u(t, \mu), 0 \leq \mu < 1, 0 < t < T. \end{aligned} \tag{37}$$

Here, $\varphi(x)$ and $f(t, x)$ are sufficiently smooth functions in x and they satisfy and compatibility conditions which guarantee problem (37) has a smooth solution $u(t, x)$.

Theorem 4.1. *Let $0 < 2\alpha < 1$. Then, for the solution of the initial value problem (37), we have the following coercive stability inequality:*

$$\begin{aligned} &\|u_t\|_{C([0,T],C^{2\alpha}_{[0,1]})} + \|u\|_{C([0,T],C^{2\alpha+2}_{[0,1]})} \\ &\leq M(\alpha) \left[\|\varphi\|_{C^{2\alpha+2}_{[0,1]}} + \|f\|_{C([0,T],C^{2\alpha}_{[0,1]})} \right]. \end{aligned}$$

The proof of Theorem 4.1 is based on Theorem 3.1 on the structure of the fractional spaces $E_\alpha = E_\alpha(C(0, 1), A^x)$ and Theorem 2.6 on the positivity of the operator A^x on the following theorems on coercive stability of initial value for the abstract parabolic equation.

Theorem 4.2. *Let A be a strongly positive operator in a Banach space E and $f \in C([0, T], E_\alpha), 0 < \alpha < 1$. Then, for the solution of the nonlocal boundary value problem*

$$\begin{aligned} &u' + Au(t) = f(t), 0 < t < T \\ &u(0) = \varphi \end{aligned} \tag{38}$$

in a Banach space E with positive operator A , we have the coercive inequality

$$\begin{aligned} & \|u'\|_{C([0,T],E_\alpha)} + \|Au\|_{C([0,T],E_\alpha)} \\ & \leq M \left[\|A\varphi\|_{E_\alpha} + \frac{M}{\alpha(1-\alpha)} \|f\|_{C([0,T],E_\alpha)} \right]. \end{aligned}$$

Second, we consider the nonlocal boundary value problem for the parabolic equation

$$\begin{aligned} & \frac{\partial u(t,x)}{\partial t} - \frac{\partial^2 u(t,x)}{\partial x^2} + \delta u(t,x) = f(t,x), 0 < t < T, x \in [0,1] \\ & u(0,x) = u(T,x), x \in [0,1] \\ & u(t,0) = 0, u(t,1) = u(t,\mu), 0 \leq \mu < 1, 0 < t < T. \end{aligned} \quad (39)$$

Here, $f(t,x)$ is a sufficiently smooth function in x and it satisfies any compatibility conditions which guarantee problem (39) has a smooth solution $u(t,x)$.

Theorem 4.3. Let $0 < 2\alpha < 1$. Then for the solution of boundary value problem (37), we have the following coercive stability inequality

$$\|u_t\|_{C([0,T],\dot{C}^{2\alpha}_{[0,1]})} + \|u\|_{C([0,T],\dot{C}^{2\alpha+2}_{[0,1]})} \leq M(\alpha) \|f\|_{C([0,T],\dot{C}^{2\alpha}_{[0,1]})}.$$

The proof of Theorem 4.3 is based on Theorem 3.1 on the structure of the fractional spaces $E_\alpha = E_\alpha(C(0,1), A^x)$, and Theorem 2.6 on the positivity of the operator A^x on the following theorem on the coercive stability of the nonlocal boundary value for the abstract parabolic equation.

Theorem 4.4. Let A be a positive operator in a Banach space E and $f \in C([0,T], E_\alpha)$, $0 < \alpha < 1$. Then for the solution of the nonlocal boundary value problem

$$\begin{aligned} & u' + Au(t) = f(t), 0 < t < T, \\ & u(0) = u(T) \end{aligned} \quad (40)$$

in a Banach space E with positive operator A the coercive inequality

$$\|u'\|_{C([0,T],E_\alpha)} + \|Au\|_{C([0,T],E_\alpha)} \leq \frac{M}{\alpha(1-\alpha)} \|f\|_{C([0,T],E_\alpha)}$$

holds.

References

- [1] S. Agmon, L. Nirenberg, Properties of solutions of ordinary differential equations in Banach spaces, *Comm. Pure Appl. Math.* 16 (1963) 121–239.
- [2] A. Ashyralyev, Fractional spaces generated by the positive differential and difference operator in a Banach space, In: K. Tas, J.A. Tenreiro Machado, D. Baleanu (eds.), *Proc. Conf. "Mathematical Methods and Engineering"*, Springer, Netherlands, (2007) 13–22.
- [3] A. Ashyralyev, S. Akturk, Y. Sozen, The structure of fractional spaces generated by a two-dimensional elliptic differential operator and its applications, *Bound. Value Probl.* 2014 (3) (2014).
- [4] A. Ashyralyev, A. Hanalyev, Coercive solvability of parabolic differential equations with dependent operators, *Abstr. Appl. Anal.* 2 (2012) 75–93.
- [5] A. Ashyralyev, N. Nalbant, Y. Sozen, Structure of fractional spaces generated by second order difference operators, *J. Franklin Inst.* 351 (2014) 713–731.
- [6] A. Ashyralyev, A. Sarsenbi, Well-posedness of a parabolic equation with nonlocal boundary condition, *Bound. Value Probl.* 2015 (51) (2015).
- [7] A. Ashyralyev, P.E. Sobolevskii, The theory of interpolation of linear operators and the stability of difference schemes, *Dokl. Akad. Nauk SSSR* 275 (1984) 1289–1291 (In Russian).

- [8] A. Ashyralyev, P.E. Sobolevskii, *Well-Posedness of Parabolic Difference Equations*, Operator Theory Advances and Applications, Birkhäuser Verlag, Basel, Boston, Berlin, 1994.
- [9] A. Ashyralyev, P.E. Sobolevskii, *New Difference Schemes for Partial Differential Equations*, Birkhäuser Verlag, Basel, Boston, Berlin, 2004.
- [10] A. Ashyralyev, S.N. Tekalan, A.S. Erdogan, On a first order partial differential equation with the nonlocal boundary condition, *AIP Conf. Proc.* 1611 (2014) 369–373.
- [11] A. Ashyralyev, F.S. Tetikoglu, A note on fractional spaces generated by the positive operator with periodic conditions and applications, *Bound. Value Probl.* 2015 (31) (2015) DOI: 10.1186/s13661-015-0293-9.
- [12] A. Ashyralyev, N. Yaz, On structure of fractional spaces generated by positive operators with the nonlocal boundary value conditions, In: R.F. Agarwal, K. Perera (eds.), *Proc. Conf. Differential Difference Eq. Appl.*, Hindawi Publishing Corporation, New York (2006) 91–101.
- [13] M.A. Bazarov, On the structure of fractional spaces, *Proc. XXVII All-Union Sci. Student Conf. "The Student and Scientific-Technological Progress*, Novosibirsk. Gos. Univ., Novosibirsk (1989) 3–7 (In Russian).
- [14] P.E. Sobolevskii, Some properties of the solutions of differential equations in fractional spaces, *Trudy Nauchn.-Issled. Inst. Mat. Voronezh. Gos. Univ.* 74 (1975) 68–76 (In Russian).
- [15] M.Z. Solomyak, Analytic semigroups generated by elliptic operator in spaces L_p , *Dokl. Acad. Nauk. SSSR* 127 (1959) 37–39.
- [16] H.B. Stewart, Generation of analytic semigroups by strongly elliptic operators under general boundary conditions, *Trans. Amer. Math. Soc.* 259 (1980) 299–310.
- [17] H. Triebel, *Interpolation Theory, Function Spaces, Differential Operators*, North-Holland, Amsterdam-New York, 1978, 532.